
Which of the words scores the most? Use it in a sentence with a semi-colon to separate two 
independent clauses.

Letter Tiles Spellings
Use the letter tile scores to find out which of your spelling words would score the most 
points. The first one has been done for you.
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Challenge Task

Spelling word Values Total

scorching 1 + 3 + 1 + 1 + 3 + 4 + 1 + 1 + 2 =

searing

sizzling

blistering

sweltering

chilly

frozen

arctic

bitter

wintry
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Scrabble Spellings Answers

Which of the words scores the most? Use it in a sentence with a semi-colon to separate two 
independent clauses.
Accept any sentence that contains a semi-colon to separate two independent clauses e.g. The 
forecasters predicted a sizzling summer; they were wrong as per usual.

Challenge Task

Use the letter tile scores to find out which of your spelling words would score the most 
points. The first one has been done for you.

Spelling word Values Total

scorching 1 + 3 + 1 + 1 + 3 + 4 + 1 + 1 + 2 = 17

searing 1 + 1 + 1 + 1 + 1 + 1 + 2 = 8

sizzling 1 + 1 + 1 + 10 + 10 + 1 + 1 + 2 = 27

blistering 3 + 1 + 1 + 1 + 1 + 1 + 1 + 1 + 1 + 2 = 13

sweltering 1 + 4 + 1 + 1 + 1 + 1 + 1 + 1 + 1 + 2 = 14

chilly 3 + 4 + 1 + 1 + 1 + 4 = 14

frozen 4 + 1 + 1 + 10 + 1 + 1 = 18

arctic 1  + 1 + 3 + 1 + 1 + 3 = 10

bitter 3 + 1 + 1 + 1 + 1 + 1 = 8

wintry 4 + 1 + 1 + 1 + 1 + 4 = 12
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